ﬁ(syte”)[o"l]
u1 U2 e D ata]0..7]
Clk1 E15 [ c10 DR Clk2 E15 [ c10 DR B
Reset _Hi3 [ oK~ DalateadyPog —arag Reset _ H13 [ O~ Dalleady "o oy vee Kouf1..12g]
BCRst H15 eset P_data0 Es H15 Reset P_data0 E8
uoa ia ] B_reset  P_datal L8 Datal BGRsLHIS | B_reset P_datal L8 Daial R296 e Er1ON{L..4]
EVRst __ Hi1 B7 Data2 EVRst __ H11 B7 Data2
- E_reset P_data2 " E_reset P_data2
Trigger G15 | 1= 0" b gatas FAL—Datad Trigger G151 -2 0" b gatas FAL—Data3 e CIK[L..4]
outl [ ! C7___ Data4 outl? 11| /199 ! C7 __ Datad 10K -
Hit_0 P_data4 Hit_0 P_data4
Out2 K4 L — D7 Data5 Outl8 K4 = — D7 Data5 R297 Reset
Hit_1 P_data5 Hit_1 P_data5 4( Reset
Out3 M1 Hit 2 P datab E7 Data6 Qutl9 M1 Hit 2 P datab E7 Data6 RTD3 ANAN <
Out4 M2 Hit — A6 Data7 Out20 M2 L — A6 Data7 BCRst
N1 it_3 P_data7 E7 N Hit_3 P_data7 £7 10K ——=——=—<KBCRst
Quis NI F P_data8 =X Quel NI P_data8 X
out6 N2 | e b data |25 BytelDO out22 N2 | e P datas A5 BytelDO R298 EVRst EVR
out? p1 | ML —dalad "gs  BytelD1 VDD Out23 [ —dalad "ps  BytelD1 VDD RTD4 S st
Hit_6 P_datal0 - Hit_6 P_datal0 - VAV .
Out8 P3 Hit 7 P datall D6 Parity TP1 Qut24 P3 Hit 7 P datall D6 Parity TP2 Trigger <Trigger
out9 N4 H!t_8 - aTa  [He — TP1 . out25 N4 H!t_8 . aTa t[Ha P2 10K
out10 P4 H!t_Q Tgso G5 RTD2 R292 Qut26 P4 H!t_9 Tg% G5 RTD3 R293 R299 DR DR
outi1 [V Gl RTD PH1 10K out27 M5 | I G1 RTD2 PHI 10K
Outi2 N | Hit10 Tl [~ RTMS T Na ] Hit10 TDI &5
oul3 M6 E‘:—ﬁ 1"0"3 G3 _ RTCK Qui29 M6, EIH% 1"0"3 G3__RTCK 10K RL Kep
out14 pe | I G4 Out30 T G4 o 10K RTCK
Hit_13 TRST Hit_13 TRST ———KRT1CK
out1s M7 | B10 _GD outa1 M7 | B10 __GD
Hit_14 Get_data Hit_14 Get_data
Outl6 P7 Hit 15 Error H3 Errorl Qut32 P7 Hit 15 “Error H3 Error2 RTMS < RTMS
out8o [ E10  TKN1 Qut96 L7 | o= E10 _ TKN2 =
Hit_16Tkn_out_TTL Hit_16Tkn_out_TTL
out79 P8 | - _OUL 1= 17C15  TKN3 —_— cC89 outos pg | ML _OUL_TL-1"C15  TKN4 c90
Hit_17 Tkn_bps_in Hit_17 Tkn_bps_in —RID‘I—<<RTD|
out78 P9 | It N1 D14 TKN4 10nF outo4 po | M M D14  TKNI 10nF
out77 NO Hit_18 Token_in ALL SERI Out93 NO Hit_18 Token_in ALl SER? RTDO
Hit_19Serl_out_TTL Hit_19Serl_out_TTL 4( RTDO
out/é L9 L 20serial_bps. in 212 Outo2 L9 1 i 20serial_bps. in 242
out7s P10 | - - Pl—. D12} out9l P10 | [ — PI—. D12  SER1 Parit Cpari
Out74 P12 H!t_21 Serial_in D10 Outon P10 H!t_21 Serial_in D10 +< Parity
Hit_22Strb_out_TTL ——X Hit_22Strb_out_TTL X
out73 R13 | ! 1 outg9 R13 |
Hit_23 — Hit_23
Quzz P13 f o Hit 31 (RIL—ou6s = OQus8  PI3 | ;o) Hit_31 (1l —OuBl VDb
out71 M12 H!t—25 H!t_30 113 Out66 outs? M12 H!t_25 H!t_30 113 outs2 C9 Cl0 Cl1 Cl12 CI13 Cl4 Ci15 Ci6
Out70 ___ N14 H:t_26 H:t_29 112 oute? Out86 __ Ni4 H:t_26 H:t_29 112 outs3
Out69  M13 Hit 27 Hit_2g |14 Out68 outss IVEEH Hngst Hit 2g |14 Outg4
TDC32 TDC32
014 01 01 01 01 01 01 01
u3 u4
Clk3 E15 L pat v |-CL0 DR Clk4 ES Lo pat v |-SL0 DR C17 Cl8 C19 C20 C21 C22 C23 C24
Reset H13 Reset a;—éz?ag D8 Data0 Reset Hi3 Reset as_(riea?ag D8 Data0
BCRst H15 B reset P datal E8 Datal BCRst H15 B reset P datal E8 Datal
EVRst __ H11 | >- — B7 Data2 EVRst __ H1i1 | - — B7 Data2
; G15 E_reset P_data2 A7 Data3 n G15 E_reset P_data2 A7 Data3
Il:lgggr—c 33 11 Trigger P_data3 c7 D Mﬁ 9 11 Trigger P_data3 c7 Datad VCC
out34 k4 | HILO  P_datad PR o8 Outs0 K4 | HIO P datad Fromh o0 04 01 01 01 01 01 01 01
Hit_1 P_data5 Hit_1 P_data5
Out35 M1 Hit 2 P datab E7 Data6 Outs1 M1 Hit 2 P datab E7 Data6
out36 M2 | o 4 A6 Data7 out52 M2 | D 4 A6 Data7 C1 C2 Cc3 c4 C5 C6 C7 C8
ous? ng | Hits P_datar 757 outs3 ng | Hits P_datar "y
Hit_4 P_data8 =X Hit_4 P_data8 =X
out3s N2 | AS BytelDO Outs54 N2 | A5 BytelDO
Out39 P1 Hit_5 P_data9 BS VDD Outs5 PL Hit_5 P_data9 BS VDD
Outa0 53 Hit_6 P_datal0 —BMDJDG - P3 Outs6 53 Hit_6 P_datal0 —MDG - TP4
Hit_7 P_datall D5 Pamry Hit_7 P_datall
Out4l N4 | g — oot |FHA TP3 Out57 N4 | e — Test FH4 TP4 1
outa2 P4 H!t_9 Tg% G5 RID4 R294 outs8 P4 H!t_9 Tgso G5 ___RTDO R295 01 01 01 01 01 01 01 01 =
Out43 M5 H!t_lo 1o 6L _RTD3 PHL 10K Out59 M5 H!t_lo 1o 6L RTD4 PHL 10K
outd4 N5 H! 11 TMs 62 RTMS out60 N5 H! 11 ™S 82 RTMS
Out45 M6 H!:_J.Z TCK G3 RTCK Out6l M6 H!:_IZ TCKA G3 RTCK VvDD: B2, B9, B14, C8, 9, E9, J1, J2, J4, J5, J11, J12, J13, J15, L10, M0, P2,
out46 pe | ML G4 . T G4 P11, P14, R12, Ki, K2, Al2, Bi1, B15, Cl13, Cl4, F10, E13, F14, J6, K13, L8, NI3,
Hit_13 TRST Hit_13 TRST
Quidz M7 e, Get data ol —CD Qutb3 M7 1iT14  Get data FE20—CD R, RS
Out48 P7 H:t_ls e _Erarloa: H3 Error3 Out64 P7 H:t_15 e _Erarloa: H3 Errord
out112 L7 | o= E10 _ TKN3 out128 L7 | = E10 _ TKN4
ouuil pe | MILICTKOWLTIL Fors Ty co1 Quizr P | MIOTKROWLTIL Pe15 ™ Tinp - o2 VCC: HL, A3, A8, C3, O6, D2, F1
out110 P9 | i-la TSkSn_in D14 _ TKN2 10nF Out126 P9 | i1s Takgn_in D14 TKN3 10nF
out109 N9 | i—laser out 7L |-ALL_ SERS out12s N9 | i Taser out T7L FALL J13 G\D: Al, A2, A9, A10, Al5, B6, B8, Cl, Cl1, D5, D9, Di1, F2, F3, F12, Fi15, H,
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ouuor P10 | -5 P D12 SER2 ouuzz P10 | 5 P | D2 2
Qutl06 P12 |y 5o5, our TTL 20X Quiuzze P12 1\ uoosuh our TTL F2LO—STROBE 3 G\D THERM F8, G7, G8, GO, He, H7, H8, HO, H10, J7, J8, J9, K8
out1os  R13 | fu-5% outial RI13 | fi-50 1
Quuo4 P13 | b Hit 31 KL oute7 = Quu20 P13 | 50 Wit 31 KL Out113
out103 M1z | Mt L3 13 outes outl19 M2 | - 3 M3 outlis PH2X2
SoEss—ee Hit 25 Hit_30 rrs—— == Hit_25 Hit_30 [F=—et ——
Outl02  Ni14 |, - P22 112 out9g outl18  Ni14 | "o L2 outlls = :
outiol w13 | Hit 26 HIt29 Py 4 ou100 outil7 w13 | Hit 26 HIt29 P4 oule [Title
Hit_27 Hit_28 Hit_27 Hit_28 ROB128-3.2/ TDC's TDC
TDC32 TDC32 _
ISize Document Number Rev
A4 B
Date: Monday, April 08, 2002 [Sheet 3 of 6
A R r N ==



cristina
TDC




